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( PUBLIC FINANCE )
1. fopr Pl O eI T8l 4 1x8=8

Answer the following questions as directed :
(@ Ao TERe (@PERY FEH TR A6
T3 = ?

Which of the following is not a source
of revenue of the Union Government?

(i) ©FFY /Income tax 4
(i) (T |RFT /Corporation tax
(iii) ¥ q&=2 /Land revenue
(iv) S ¥% /Custom duty
(e Taeeo! 1o Sfersan)

‘ (Choose the correct answer)
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(2)

(b) @Rq TS Trard T4 |

Mention one canon of taxation.

(c) T R SR W o 2
Who is the Chairman of the Thirteenth
Finance Commission of India?

(d) T G TIF ©I @ e w1 27 9

Expenditure of the Union Government
is classified as

(i) &2 W
revenue expenditure
(ii) TR I
capital expenditure
(i) s IRgS I
non-plan expenditure
(iv) ST AFCECET
All of the above
(e T A1 Serear)

(Choose the correct answer)

(e) woTo STAR® (FARY HIPRT TS G- 7= ?

Which of the following is not a non-tax
revenue of the Government?

(i) =PIPTMS TR
Receipts from administrative
services

(i) G WICAS e

Revenue from Public Service
Commission '

14P—5000/306 ( Continued )



(3)

(iii) DIFIRA S HE 9
Grants-in-aid and contributions

(iv) ZFFEA 4

Short-term loan
(o TeCo! b Slerean)

(Choose the correct answer)
() TIRIR TEP SR (ICO! SIS S A 2 7

Public receipts are divided into
(i) SR S W SR AR
public receipts and public revenues
(ii) T P IAPT SR
tax and non-tax receipts
(iii) ER SAF SARER A
revenue and non-revenue receipts

(iv) TS SF FLA S
revenue and capital receipts

(o @100l A1 Sferea)

(Choose the correct answer)

What do you mean by deficit financing? -

(h) VAT'I T T
Write the full form of VAT’

2. mﬁmﬂﬁﬁ?@mm: 4x4=16
Write notes on-any four of the following :
(@) eeial Req «fem
Scope of public finance
000/306 ( Turn Over )
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(b)

(c)

(@)

(e)

(b)

14P—5000/306

4)

qcas FEETE SRR

Objectives of budgetary control

I Reme ey
Evils of deficit financing
P9 GE GAIPT qIER

Tax and non-tax revenue

8 A%

Gram Panchayat

g e aﬁincf" MG o oo
[ 40 | 11

Explain the principle of ‘maximum socia]
advantage’ with the help of a diagram.

w1231 / Or

(F254 HIIIAN [GT OGLO! AR 4l |

Explain the Keynes theory of public
finance.

‘e epP WA & e 7 RSy eipie wse
wive ffen SfseariRy A syt i 1 |
4+7=11
What do you mean by ‘financial
administration” Briefly explain the

various agencies involved in financial
administration.

( Continued )



('S )

1241 / Or

(b) oF-Rfe wwed W o -Rfe awss
oREETIe 2D P el FM1 - 4+7=11

What is ‘zero-base budgeting? Briefly
discuss the process involved in zero-base
budgeting.

5. (@) SO FIY SRR Ry S 901 12
Discuss Adam Smith’s canons of

taxation.

1231 / Or

(b) T RIS TE AT oI T SATPTRR
A 4 | '

Discuss the factors affecting the impact
and incidence of taxes’.

6. (o) AT U REAR GATS BRI T AR
S SICE 91 | 11

Discuss the effects of public expenditure
on production and distribution.

1231 / Or

(b) SR TS SASTS © B! IR I PR
RIGILTIRSEIN
Discuss the reasons for growth of public
expenditure in India in recent times.
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(6)

7. (@) CRSIES BFIE AR Q@& Jd T SO

41 11
Discuss the growth of public debt
in India.

21/ Or

(b) T e SR AR SR scss w59 )

Discuss the recommendations of the
Thirteenth Finance Commission.

14P—5000/306 ( Continued )



(7))

( MATHEMATICS )

1. wee [l oXCenE Ted Il . 1x8=8

Answer the following questions :

(@) wae i wefeR (e [{ed (ieEra
@R e

What is the sum of the diagonal elements
of the following matrix?

2030 <
A el e
-1 0 -1

(b) ax? +bx+c =0 ARNFAR A 161 @Al aFS
o T A ?
When the two roots of the equation
ax? +bx +c =0 real and equal?

() @ CTFe™a TR

Define a singular matrix.

(d) A={x:x @51 TAe W SF x2 <10} W
B={x:x2+x—2=0}, EYG| Ar\-BE i
ferefy < |
If A = {x: xis an integer and x? <10} and
B={x:x?>+x-2=0}, find AnB.

1413._—5000/305 ( Turn Over )



(8)

(e) 3x+2y+3=0 @ECHA y-rF5 @ TS
&1 a7

At what point does the line 3x +2y+3 =0
intersects the y-axis?
() f'(@F 58 TS 2 41 |

Express f’(a) as a maximum limit,

) f(x):x—l_z_ T Sficwg 0

What is the domain of the function

1
flR=—>2

(h) R IR R @
Fill up the blank :

2. (@ () 291623 >EMR 1097 o wm
feefq a1 1

Find the 10th term of the series
2,9,16,23 --- .

(i) 3 x* - px+q=0 NeaT @B PEl
SR o a8 =, (o't 2w == o
2p2 =90gq.

If one root of the -equation

x? -px+qg=0 is twice the other,

then prove that 2 p2 =9q.

14P—5000/306 ( Continued )



(9)

i) T (@0), 0,b) TF oy By fFHo

(iv)

(i)

14P~—-—5000 /306

GPERIAM =W, OERTE AT T
£+E=L

Ayl

If the points (a 0), (0, b) and (x, y)
are collinear, then prove that
X Yo

a b

o @Bl grared AR AW nbl T
T S, R P W SRR
@eFsd R =, (omRE @yed A&
P2 =(S/R".

If S be the sum, P the product and

R the sum of the reciprocals of first
n terms of a GP, then show that

P2 =(S/R".
1241 / Or

3x+5y+6=0 CIIEFE AIT i
Y-S (R e 2

What are the gradient and y
intercept of the line 3x+5y +6 =0?

HEe 41
Simplify :
75 S 32
log— —2log— +log——
el iiio 045
( Turn Over )



(10 )

(i) I (xy) B (b g WF (g b) Ry
TR #[l ARG ACF, (SR Tl _
A x=y. . 4

If the point (x, y) is equidistant from

the points (b, @) and (q, b), then show
that x = y.

() {sT A (2, 6), (5, 1), (0,-2) wF
(=3, 3) T3 BIfBL b1 <ofa Mty | 5

Show that the four points (258 6);

(5, 1), (0, -2) and (-3, 3) are the
vertices of a square.

<A R e ) ) AT (e
. 2
aij=,(l+2j) 2 T T T o

Construct a 2x2 matrix whose

elements a;; are given by a; = ( +2J]2
(i) CENES @ AT T, TN 40 3
Solve by Cramer’s rule :
x+2y=35
y+2z=8
3x-2=0

i 4p—5000/306 (Continusg |
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(11 )

(iiy) @61 PR oI b1 (e e o
R 1 BRGT “nefe By o 4

Write any four differences between
a determinant and a matrix.

(iv) 499 T4 @
Prove that
a+b+2c a b
c b+c+2a b =2(@+b+c)
c a c+a+2b
S
721/ Or
(i) W= g 4 2
Evaluate :
17 58 97
19 60 99
18 59 98
(ii) T 4T 3
Solve :
X 2 x+3
3 S i Bl
x+1 7-x 12
{ Turn Over )



(12 )

a0} ] LA
(i) AR =D 0 BONFARSR - i v o' 0
1l T .5
3'7E, A % B3I W ey w41 | 4
Find the value of A and B, when
1 0 2 TR 1 A 1
A+B=|2 2.2|,A-B=| 4 2 0
gl K il )
(iv) AW
e )
A= HD SRS
o80T
=7, AN 9 @ A% -4A-57=¢ 5
If
11 2 )
A=|2 1 2
2oL
prove that A2 —~44 _57- 0.
4. (a) () 1S TS 0T TR Jwe ey oo o

What is the difference between

simple interest anq compound
interest?

14P—-—5 000/306 ( Continued )



(13 )

(ii) 2f5 T=a 500 TR wEe fara A
(212 TEelil Regd oRe fra 277) @em
e (969 @S 5,000 B
ARE | @ | 2R e [ 2
s o i 242 3

To endow a scholarship of ¥ 500
a year, the first payment to be made
a year hence, a man deposited
a sum of ¥ 5,000 to his bank
account. What is the rate of
compound interest p.a. given by
the bank?

| (i) @A TERCA 6% T eI I©
48,000 BT 4= A S =} 71%
s o] 2R 4Rtal feA | 3 %o
(@67 3 e RAA 29?2 4
A merchant borrowed ¥ 48,000 at

6% simple interest and invested
the amount at 75% p.a. compound

interest. What will be his total profit
‘in 3 years time?

(iv) @S WL 60 TRF WO WP 2R
@ WF (959 AR (96F == @
qq e ARE 1,200 59 Zq©
e SR ol ficy | 7 (osd
w@RE SR 13@1{%{@@@[@

14p—5000/306 ( Turn Over )



(14)

L0 IES I (o B I Vi A s [ o
JRCART TR 4% T, (O TE SRl
SR I 49 AT U e . 6

A man retires at the age of 60 years
and his employer gives him
a pension of ¥ 1,200 a year paid in
half-yearly instalments for the rest
of his life. Reckoning his expectation
of life to be 13 years and that
interest is at 4% p.a. compounded
half-yearly, what single sum is
equivalent to his pension?

71241 / Or
() () PR B we whe [ ke 9

Define perpetuity and deferred
annuity.

(ii) IR 8% Hfa 2 o frgwm G
e frre o fomgT 2'3 7 3

In what time a sum of money triples
itself at 8% p.a. compound interest,
if the interest is compounded
annually?

(iii) €= T2 Yo 1,20,000 B @4 A0
Y[_E ', O 96l WX ANE (o8
W@E 5% IO WF AR X AT RR
4% 29 7© frd =l | 3 TS (98 [t

] 41:,___5000/ 306 { Continued )



(15)

16,500 51 o f@aa 275 | (o€ 4%
2[F oo ST BT 4150 (erRet 2 4
A man took a loan of ¥ 1,20,000
from a bank. He paid 5% interest
on a part of the loan and 4% on
the remainder. After 3 years he paid
¥ 16,500 as interest in total. Find
the amount borrowed at 4% interest.

(iv) 80,000 BF IEAW TR o b
25 279 fRe FIRE AR b1 R
A& el 2@ 1AM T @R/ R e
R 10% TI© g qo frar = e
25 I29 P @I 31 I Feie
20% WRT W, (SR’ VRS e
ofq] q2} P BFICE T A A 2 6
A sinking fund is created for
replacement of a machine after
25 years whose present cost is
¢ 80,000. What sum of money
should be provided out of profit
every year for the fund, if the
investment can earn interest at
10% p.a. and the cost of the
machine at the time of replacement
is 20% more than the present?

5. (@) () LPP qFical & @2 9
What do you mean by LPP?

(i) LPP 3 A<= ey sicaman 41 | 4

Discuss the limitations of LPP.
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(16 )

(iii) w=7s fal LPP < tas LPPCOI =4l -

Write the dual of the following LPP :
wifgeen I fief $41 (Maximize)

Z =5x) +2x,
AACE (subject to)
4x; +3x9 <10
2x; +6x,5 214
Xy, Xq 20

ag TeAmeE ool (5w I, I S 1T
Tz o SRRy 25 A, B @ C
T FfeacE B sReE ) e
fefretm swTel % foffy ~a@ arE
TR LPP A 2p =) -

A producer decided to produce three
products A, B and C which requires
use of three machines I, II and ]I
The working capacity of three
machines and machine hour
required for each product are

given below. Express the problem
as an LPP.

o SIS (A5 FTel ot e |
Machine Machine hour required Working capacity
of machine
9 A *197 B AqC ‘
Product A | Product B| Product C
BT T 2 3
I 8 : 250
i it 3 0 150
2 0 1 50
14}3__,5000/3 ( Continued )



(17 )

w121 / Or
(b) () TEEES] WE TFS bered W i | 2
Define constraints and surplus
variable.
(ij) <51 (e LPP® 33l mi<eres e
[ 3 T 3

State a general LPP explaining the
terms involved.

(iii) @foa GfRace were fr@r LPP 3 STHiam

340 : 5)
Solve graphically the following LPP :
wggey I g 41 (Maximize)
Z =10x; +5x,
AACE (subject to)
2x; +x5 <26
2x; +4x, <56
Selhing) 2 )
Xy, Xo 20
(iv) RS TRl 2l B T 5 5

Using simplex method to solve :
wifeed I e 91 (Maximize)
Z =6x) +8x,
AACE (subject to)
Sx) +10x, <60
4x; +4x, <40
X1, Xy 20

141;,’,_5000/306 ( Turn Over )



(18 )

6. (@) () SETAEA 2AAN Aol o | 9
State the first principle of derivative. -
(ii) x3 FACATE TS Slelad] 3
Differentiate w.r.t. x :
35
4 —
X
(ifi) T= Fefm 4 2+2=4
Evaluate :

y=2x> -3log x +6e2*

1
im ———
= Y o g

54105
@)ilim et =8 .

a2 ol

(iv) y=x2-9x2 +24x-12 FoWq J2ed
F oy = g F4T 5

Find the maximum and minimum
values of the function
y=x°-9x2 124x-12.

71241 / Or
(b) (i) SESeIER wites e 2

Give the geometrical interpretation
of derivatives.
(i) % (1)
Sy X
Z0 % Y

o919 91 @ (prove that)

X—+y—+2z—=0 3

1413.——5000/ 306 ( Continued )



(19 )

(iii) == e 0 2+2=4

Evaluate :

()P e V1-x?

x—0 X

dy 9
2) =2, wheny=x e*
( dx Y

(iv) 77 (If) xy=a€x +bhe”* =W, €6
@ (prove that)

K
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